o2 2 H 0 = 99 F40o]1 LAOD =
30°, ZAOC = /BOD & W, t+& 5 24 &2 727
D
30°
A 0 o

/'\ ~~
@ 5.0ptAD = 35.0ptBC
~ IR
@ 5.0ptAB = 5.0ptCD
® AB =3CD
@ (FA4& AOB9| Hol) = (F4& COD Hel)

® (EAZ A0C| Hol) = (4Z BODE] Heol)



-

~

~-8cm- -~

cm2

~



@ (T + 4)em @ (7m+ 8)cm ® (7r+ 16)cm

@ (147 + 8)cm ® (147 + 16)cm



4. Uz 2N o 2717

«OC

\e/
v/
O
80°

“~10cnx”

® 20° @ 25° ® 30° @ 40° ® 45°



2 0]
=

=
[}
&
o™
—_
N
o
s
oT
T
il
T T
l
= o
- s
= il
= =
O
R
B 2
N [
<
T BT
o B
=
X
op ™.
=y

5.

cm



olJ

%
o8

olig
Nfo

op

gt

of A7 A=

T

N
<H
Nfo
I

1

@ @) Aol

o

oA

o



7. o= "N xS AVE L

il
rg
)

® 30° @ 32° ® 34° @ 36° ® 38°



8.

the 1le] AAZ1E ABCD o4 AR R Yol

A
\
\
\
\
10cm
/I
/
=C
~~10cm-
® <100 — Z—Oﬂ> cm? @ (100 - ?7‘[) cm?
1 2
® (100 - %n) cm? @ (100 - gon) cm?

® (100 - 247) cm?



3 % Ao Ao]

o gol7t o &

N

N

o)

oy

s

o

H

T

s

oF T

on B

g

NERS

NLin

__o_l ,E_la

2

T -

plo o
L,

o N

a

m m

o o

T ®

12cm”

6cC

cm?



10. o= =90l x, y o 2 Fstofzt.

S

> g



